MATHS

BOOKS - PSEB (PUNJABI MEDIUM)
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1. I fd fening fed foozfaaz ggue f¥a 9% feg I 3 faozr &t I?
g Afgs €33 fel:- 422 — 32 + 7

o Watch Video Solution

2. 35 &8 fenima fed foog-faoz goue s 98 feg 3 3 faozr odf 97
g% Afas €39 fe@:y? + /2

| o Wiatkll . \nNdaa CaAliidiam



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bDLEvAB0txVX
https://dl.doubtnut.com/l/_UDiZ7vIaM9Kv
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3. I foy fenindg fed fagz-faaz ggue 9 98 feg J 3 fagz odf &?
a9 Afg3 €33 fe@:-3v/% + t4/2

o Watch Video Solution

4. I 5 fenina fed faoar-faog ggue e 9% feg d 3 fagg &dt I?

a'da Afas €33 feB:-y + 2
Yy

o Watch Video Solution

5. 35 T fenina fed fagz-faog ggue f¥a 95 few J 3 fagzr &df I?

a3 Afas €39 fe@:-z'0 + ¢ + ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_UDiZ7vIaM9Kv
https://dl.doubtnut.com/l/_xPCblMkNwuUO
https://dl.doubtnut.com/l/_vzNK3bKNQw9n
https://dl.doubtnut.com/l/_WMUt22YiYZ3O

6.5 fefiii fed 22 warea 8- 2 + 22 + o

° Watch Video Solution

7.3 fftt fed o2 © grcfa figd- 2 — 22 + o3

° Watch Video Solution

8. 35 fosfmii fiedf o2 & greial fisit- %az2+m

o Watch Video Solution

9.3 faftmit fed 22 T grefa fsdd- /22 — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_LzFRH837t6Gb
https://dl.doubtnut.com/l/_vvfh9eiaHdXf
https://dl.doubtnut.com/l/_GQqwX73FkBoY
https://dl.doubtnut.com/l/_GQ3vasuXYrCB

10.35 W3 2 € Ug T M3 W3 100 & f¥a yet v f¥a-ffeq Bergas feB|

o Watch Video Solution

11. 95 58 ggye fed ggue S ws fs8:- 52° + 422 + Tz

° Watch Video Solution

12. 35 {53 ggue fed ggue S wrs fisg:- 4 — /2

o Watch Video Solution

13. I T4 goue fed goue &t w3 fga:-5¢ — /7

° Watch Video Solution



https://dl.doubtnut.com/l/_5A0XuiHE78vq
https://dl.doubtnut.com/l/_ch598DfF9eOS
https://dl.doubtnut.com/l/_RDpiwGfPZVg3
https://dl.doubtnut.com/l/_WYTK3OQIxz3H

14. 35 f5d ggue fed ggue <t ws fad:- 3

o Watch Video Solution

15.©R fa I& 59 goue fed fagzr 34t ggue I, fagz-faoz ggue © wst
33 foazr goue e w d:- 22 + =

° Watch Video Solution

16.TR fa I& 59 goue fed fagzr 34t ggue I, fagzr-fagz ggue © wst
3 M3 fogz goue Bs w3t 3:- z— o3

o Watch Video Solution

17. <R fa I f&d ggue fed faazr St ggue 3, fqoz-fagz ggue @ w3t 3
3 ooz ggue S wt -y + ¢ + 4

| ﬂlll,l,l,\",l,,‘—,l n®


https://dl.doubtnut.com/l/_gfDUFmkiuecY
https://dl.doubtnut.com/l/_vtlGLNUw5aAx
https://dl.doubtnut.com/l/_avIXoheMwhYK
https://dl.doubtnut.com/l/_6IlAna6MG5Cv
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18. T fa I& &8 goue fed faazr 3t gguw J, faazr-fagz ggue © w3t
I m3 fagz ggue Bs w3t d:-1 + =

o Watch Video Solution

19.TR fa I& 58 ggue fed fagzr 34t gouw I, fagz-fagz ggue © wst
J m3 faoz ggue S w3t 3:-3t

° Watch Video Solution

20.TR fa I f&a ggue fed fagzr 4t ggue I, faoz-fagg ggue © wst
3 m3 faaz gogue 8 wst 3:+2

o Watch Video Solution



https://dl.doubtnut.com/l/_6IlAna6MG5Cv
https://dl.doubtnut.com/l/_zK7k12I5kuge
https://dl.doubtnut.com/l/_yBWltuHiziSd
https://dl.doubtnut.com/l/_V4TRpw5WgtXU

21.7 fa & 59 goue fed fagzr 34t ggue 3, fagz-fagz ggue © wst
3 mi3 faaz goue 86 wist 3:-723

o Watch Video Solution

22.35 f58 @ ggue 5z — 422 + 3 T UG - x=0

° Watch Video Solution

23.95 fgd @ ggue 5z — 42 + 3T UB A x =1

° Watch Video Solution

24.95 f58 @ ggUT 5z — 42 + 3THB TIR-x =2

o Watch Video Solution



https://dl.doubtnut.com/l/_76qc4EVMLk87
https://dl.doubtnut.com/l/_QZvJQn3cqiOX
https://dl.doubtnut.com/l/_az1zLUY3j1c8
https://dl.doubtnut.com/l/_nPv2CSHuok4t
https://dl.doubtnut.com/l/_2Ql2RC7PmUCB

25. 35 fod gsgue fed ada ggue s p(0), p(1) M3 p(2) Bs:-

py) =y> —y+1

° Watch Video Solution

26. 35 f&d gsguT fed ada ggue s p(0), p(1) M3 p(3) Bs:-

p(t) =2+t+ 22 — ¢

o Watch Video Solution

27.35 f&a ggue fed a3a ggue B¢t p(0), p(1) M3 p(4) B3:-p(z) = =°

o Watch Video Solution

28. J5 T3 "gue fed ada ggue e p(0), p(1) M3 p(5) Bs:-

p(z) = (z —1)(z +1)

o Watch Video Solution



https://dl.doubtnut.com/l/_2Ql2RC7PmUCB
https://dl.doubtnut.com/l/_y9nqPJ5Ovh4B
https://dl.doubtnut.com/l/_SK9MIctA92Vi
https://dl.doubtnut.com/l/_2p6CBQNuTrhP

29. 79 3J fd feume g 4B foHasfsys Afasin feg Hars ggue i fiadt

1
I&-p(z) =3z + 1,z = — 3

o Watch Video Solution

30. A9 dd fa feue ae WS forafsus afasint feg Haz ggue dnff

fAgd g&:p(z) = bz — m, z = %

o Watch Video Solution

31. 779 ad fd feum? are IS forafsys afasnt feg Hars ggue &t figat

I&p(z) =2 — 1L,z =1,-1

o Watch Video Solution



https://dl.doubtnut.com/l/_2p6CBQNuTrhP
https://dl.doubtnut.com/l/_L5wlQkEo5rAb
https://dl.doubtnut.com/l/_tgWsGeNqkaZU
https://dl.doubtnut.com/l/_xQtEhtzahTVv

32. 79 3J fd feume g 4B foHaf8ys Afasin feg Hars ggue i fiadt

I&p(z) = (2 +1)(xz —2),z = — 1,2

o Watch Video Solution

33. 79 oJ fd feume gt ¥B foHafsys Afasin feg Hars ggue i fradt

I&p(z) = 2%,z =0

o Watch Video Solution

34. A9 ad fa feue I WS forafsus afasint feg Ha3 ggue dnff

fAgdt g&-p(z) = Iz +m,z = — %

o Watch Video Solution



https://dl.doubtnut.com/l/_Ne9ENFayeaRy
https://dl.doubtnut.com/l/_vmyHjvzxLyvj
https://dl.doubtnut.com/l/_yacTDZ7jj4sT

35.779 o3 f e a2 Vi fovosfisus fasin feg Hars ggue v firgat
12
V3 V3

I&p(z) =322 — 1,z = —

o Watch Video Solution

36. A9 oJ fd feume are U3 foHafsys Afasin feg Hars ggue i fradt

1
I&p(z) =2z + 1,z = 3

o Watch Video Solution

37. 35 fe3t nfgst fed ada nfest feg ggue S iga 83:p(z) = 2 + 5

° Watch Video Solution

38. I3 &3t nfEst fed oda Afbst feg sgue St Hgd 83:-p(z) =z — 5

° Watch Video Solution



https://dl.doubtnut.com/l/_0vwFrEduPcOj
https://dl.doubtnut.com/l/_OoKI2vOIGYM2
https://dl.doubtnut.com/l/_tT460PFUodMI
https://dl.doubtnut.com/l/_fpohQEQ7tqNQ

30, 3 Fodt e fedf oda it fem Houe @ 129 83:p(z) — 20 + 5

o Watch Video Solution

40,3 ft it fied oda mf feo Houe & frga 83:p(x) — 3o — 2

o Watch Video Solution

1.3 R et i oda mifE fem Houe AR 83 p(o) — 32

o Watch Video Solution

42. I35 &3t nAfest fed ooda mfedt few ggue < fheg &3-

p(z) = azx,a #0

o Watch Video Solution



https://dl.doubtnut.com/l/_fpohQEQ7tqNQ
https://dl.doubtnut.com/l/_G7Bin79daNLz
https://dl.doubtnut.com/l/_kRRWlqb0LV6A
https://dl.doubtnut.com/l/_zj42P64ErNv8
https://dl.doubtnut.com/l/_NW3Bm3L1AVMt

43. J5 3t mfgst fed o9 wmfast few sogue < fAeg
p(z) = cx + d, ¢ # 0, c,d TH3fEd Fftmre &)

o Watch Video Solution

44.2% + 32° + 3z + 13 I B A S 3T 8- + 1

° Watch Video Solution

45.2° 4 327 + 3z + 135 f5d s gaT e 3 oA 8- x -

o Watch Video Solution

46.2° + 32° + 3z + 1§ 3J5 o8 o® I B 3 A B3:- x -

o Watch Video Solution



https://dl.doubtnut.com/l/_Cdpq98J0Dkol
https://dl.doubtnut.com/l/_MzRPjngWPbLy
https://dl.doubtnut.com/l/_0QAQbIwUC4uZ
https://dl.doubtnut.com/l/_hh5vSuydRQKH
https://dl.doubtnut.com/l/_tD4Tt5hEpF0H

47.2° + 32> + 3z + 1 §Is A sy FaT T I A B3z + 7

° Watch Video Solution

48.2° + 32° + 3z + 1§ 3J fod am g@T B 3 A 8315 + 2z

o Watch Video Solution

49.2° — az’ + 6 — a Sz — a TS TS 3 T B

o Watch Video Solution

50. 79 ag fa 7 + 3z, 32 + Tz © fea TesH3 I A &

o Watch Video Solution



https://dl.doubtnut.com/l/_tD4Tt5hEpF0H
https://dl.doubtnut.com/l/_kibTmMhyhgbB
https://dl.doubtnut.com/l/_Yq7ccfcuAMU1
https://dl.doubtnut.com/l/_yDtxf29GgyeI

51. €1 fa do &3 JI2 ggue’ fed faa3 ggue v g geads (z + 1) I:-

:133—|—:c2—l—a:+1

o Watch Video Solution

52. ¥R fa do f&3 I ggue’ fed foal ggue @ fa geads (z + 1) I:-

x4—|—:c3—|—zc2~|—az—|—1

o Watch Video Solution

53, ¥R fa do f&3 I ggue’ fed foal ggue @ fa geads (z + 1) I:-

a:4—|—3a:3—|—3a:2—|—x+1

o Watch Video Solution

54, R {3 J& &3 IT ggue’ &< faal ggue @ e geads (z + 1) J:-
:1:3—:1:2—(2—1—\/5):1:—1—\/5


https://dl.doubtnut.com/l/_k3dPQd9pR0fi
https://dl.doubtnut.com/l/_tae4z2YWua2t
https://dl.doubtnut.com/l/_gVLgEHULiJ1B
https://dl.doubtnut.com/l/_ctZS491jvjoO

o Watch Video Solution

55. Jecd3 fagar Brqr agd €x fa It fid3nr Afasnr fed gdx Afash
@9 gx) , px T ffg& Jgexds I A &

p(z) =22° + 2> — 22 — 1, g(z) =z + 1

o Watch Video Solution

56. JecU3 faGaH Brqr agd ©R fa It &3 AfaSnr fed gox Afash
ffg gx , px T f& Jgexds I A &b

p(z) =2 +322 + 3z +1,9(z) = = + 2

° Watch Video Solution

57. Ied3 f98aH B dad €R fa Iat i3t mfasint fed gdx Afash
ffg@ gx , px) T fd@ TJexds I 7 -

p(z) =2* — 42> +z +6,9(x) =z — 3


https://dl.doubtnut.com/l/_ctZS491jvjoO
https://dl.doubtnut.com/l/_56N1zsTJ1LPu
https://dl.doubtnut.com/l/_MYc7KL4qVYW3
https://dl.doubtnut.com/l/_R8rl6ptUVATd

° Watch Video Solution

58.k T H& &3 1< {d fonafsys afash fed ada afast fed x - 1p(x) &

fea geds d=-p(z) = 2° + = + k

o Watch Video Solution

59. k T H& &3 mc {d fonafsys afash fed ada afast fed x - 1p(x) &

foa gresds I=ip(x) = 22% + kx + /2

o Watch Video Solution

60. k T US B3 AT fa forafaus afasin fed gda Afast fag x - 1p(x) &

fea gresds I=- p(z) = ka® — 2z + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_R8rl6ptUVATd
https://dl.doubtnut.com/l/_21HLstqDdQOj
https://dl.doubtnut.com/l/_LbNoZ8mcNVyu
https://dl.doubtnut.com/l/_iR2fZndejSPI
https://dl.doubtnut.com/l/_k1NYxSL1fWKx

61.k € U8 83 A< [d forafaus afasiv fed ada Afast fed x - 1,p(x) &

fea o3 d=ip(x) = kx? — 3z + k

o Watch Video Solution

62. JSAUS USTA:- 1222 — Tz + 1

° Watch Video Solution

63.JEaYS UST dd:- 222 + Tz + 3

o Watch Video Solution

64. JICAYS U3T Sa:- 622 + 5z — 6

o Watch Video Solution



https://dl.doubtnut.com/l/_k1NYxSL1fWKx
https://dl.doubtnut.com/l/_8Yn9hnrlUvBM
https://dl.doubtnut.com/l/_HfA8mGnwKWZb
https://dl.doubtnut.com/l/_5qOSOonuF4AT

65. S USTdAd:-322 —z — 4

o Watch Video Solution

66.ISAUS USTAd:- 2% — 222 — z + 2

° Watch Video Solution

67. U3 USTaS:-2° — 322 — 9z — 5

o Watch Video Solution

68. ISAUS UST d:- 2° + 1322 + 32z + 20

° Watch Video Solution



https://dl.doubtnut.com/l/_pYObkqewXgEe
https://dl.doubtnut.com/l/_mAfOE68sCK1k
https://dl.doubtnut.com/l/_coNRuxxTE4Yp
https://dl.doubtnut.com/l/_RoBX29pw6HQv

69. TS U S 2y° + ¢ — 2y — 1

o Watch Video Solution

70. E9E] AIGAH3T € YUWdT dda I5 fBd Jeaes € U8 u3T &d:-

(z 4+ 4)(z + 10)

° Watch Video Solution

71. dSl AJEAH3T € YWdT ddd J& 83 greaes € We U3t &d:-

(z + 8)(z—10)

o Watch Video Solution

72. €<l HIGAH3T ¥ YWdl ddd I 84 gieaes € Uy U3 &d:-

(3z + 4)(3z — 5)

| ﬂll',L,l,l'!,l,, o~ _01_ _a°* ___


https://dl.doubtnut.com/l/_ad9lHm7K9smB
https://dl.doubtnut.com/l/_gmctzp6G8TUa
https://dl.doubtnut.com/l/_LG28YCNqRPO5
https://dl.doubtnut.com/l/_JWWrJkiVXOtw
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73. €3l HIGAN3T ¥ YUdl ddd JI& 84 Jieaes & Uy U3 &d:-

-3

o Watch Video Solution

74. ISl AIGAH3T € YUWdT dda I5 fBd Jeaes & Uy u3T &d:-

(3 —2z)(3 + 22)

° Watch Video Solution

75. fidt arer 13 faat I 188 reaes v H8 usT ad:- 103 x 107

o Watch Video Solution

76. fiHdt gre 13 faa' I 58 Icaes T WS UsTad:- 95 x 96



https://dl.doubtnut.com/l/_JWWrJkiVXOtw
https://dl.doubtnut.com/l/_VURcnVZbGXLA
https://dl.doubtnut.com/l/_rJ3O1APNbEsE
https://dl.doubtnut.com/l/_HVcxy55ZMOc7
https://dl.doubtnut.com/l/_n5TF0Y9fEWUy

o Watch Video Solution

77. T4t i a13 faet I 59 IIeaes T S u3Tad:- 104 x 96

o Watch Video Solution

78. §3E] AJEAN3IT © YWdl dda J& fBd € gesdsSldde Jd-

9z + 6zy + y?

o Watch Video Solution

79. E3€] AJEAN3T © YWdl dda J& Bd € gresdsidde dd-

4y? — 4y +1

o Watch Video Solution



https://dl.doubtnut.com/l/_n5TF0Y9fEWUy
https://dl.doubtnut.com/l/_yYIggmRtDwDz
https://dl.doubtnut.com/l/_7okmaaxRQrOG
https://dl.doubtnut.com/l/_fiTB3qtGCJvu

2

80. B3] HIgHH3™ T YWidT dda Js fad & geatstaae adi-z? — %

o Watch Video Solution

81. Bl HIgAH3" @ YUiaT &9d I 58 w1 fen3a a9 (z + 2y + 42)°

° Watch Video Solution

82. TS HITHHST € YGiaT 59 I f%d e fensg ad- (22 — y + 2)°

o Watch Video Solution

83. ¥del HJEGRH3I' ¥ Yudl ddd ds fsd & fensag 49

(—2z + 3y + 2z)2

o Watch Video Solution



https://dl.doubtnut.com/l/_zRSv6popVgxo
https://dl.doubtnut.com/l/_fxo5ktaJoe7n
https://dl.doubtnut.com/l/_9aaY3rlkxmvi
https://dl.doubtnut.com/l/_umIzXy4YkY6T
https://dl.doubtnut.com/l/_UPpIBHs2sY4d

84. G5! HIEANST & Y&idT g9a s 58 w fer3a ad:- (3a — b — ¢)°

° Watch Video Solution

85. gdel HJEAW3T © Yudl &da Is fsd © fewmsa a3

(—2:13—1—53/—32:)2

° Watch Video Solution

86. Yl HJGHH3T © YWdl &dd dJs fsd & fewsag dd-

1 1b 12
14730t

o Watch Video Solution

87. JIEAH IS ad:- 4a® + 9y + 1622 + 122y — 24yz — 1622

o Watch Video Solution



https://dl.doubtnut.com/l/_UPpIBHs2sY4d
https://dl.doubtnut.com/l/_CBkdohEMyC09
https://dl.doubtnut.com/l/_tzM9vxCeBm5e
https://dl.doubtnut.com/l/_rPCg5ZokBZ61

88. ISAHINEIE Ad:- 22 + 2 + 822 — 2¢/2zy + 4/ 2yz — 8x2

° Watch Video Solution

89. 35 f5d we & fenfys gu féa - (22 + 1)°

° Watch Video Solution

90. 35 fisd ure & femfys gu fée st (2a — 3b)°

o Watch Video Solution

3
o1, 35 s we & femfys gu e st [;Hl]

o Watch Video Solution



https://dl.doubtnut.com/l/_xiMBWIPaG5ns
https://dl.doubtnut.com/l/_6IyMs1YVaOG6
https://dl.doubtnut.com/l/_oZp3lS06bixn
https://dl.doubtnut.com/l/_yyUz9pKqoBVo

3
02. 35 5 wre § Ferfys gu RS fisd- [w— gy}

o Watch Video Solution

93. gl HIEAH3T & YGial 594 I 58 & 1% 83:- (99)°

° Watch Video Solution

94. Bl HIEHHS™ & YWdl adal 96 58 T UE &3:- (102)°

o Watch Video Solution

95. EE] HIEAHS" T YGiaT 594 I 58 &7 1% 83:-(998)°

o Watch Video Solution



https://dl.doubtnut.com/l/_CjrQo2RSdSve
https://dl.doubtnut.com/l/_P616zqaHWRf4
https://dl.doubtnut.com/l/_NGti28lLP949
https://dl.doubtnut.com/l/_yu1HR18YwyhO

96. 35 58 T Iy Stade a3:- 8a® + b + 12a%b + 6ab?

o Watch Video Solution

97. 35 f59 T JresyiStdae ad:- 8a® — b° — 12a%b + 6ab?

° Watch Video Solution

98. I 58 T gIeadSiade da:- 27 — 125a® — 135a + 22542

o Watch Video Solution

99, I5 %8 T e Fade aa:- 64a® — 27b° — 144ab + 108ab?

° Watch Video Solution



https://dl.doubtnut.com/l/_x5HEuNou1OKy
https://dl.doubtnut.com/l/_3dBa5oYjhe1F
https://dl.doubtnut.com/l/_TW1SRHCjrxAg
https://dl.doubtnut.com/l/_IYcLx9UrJ8lm

. 1
100. 35 58 T gresySiade aa:- 27p° — 516

9 1

— <0+ op

2 4

° Watch Video Solution

10179 a3 2° + y° = (z + y) (2> — 2y + °)

° Watch Video Solution

102. 779 &3:-2° — y° = (z-y) (2* + zy + ¥°)

o Watch Video Solution

103. 3 58 T greadstades aa:- 27y° + 12523

° Watch Video Solution



https://dl.doubtnut.com/l/_NOaXHMKsHyiC
https://dl.doubtnut.com/l/_ejNkxvFtabX6
https://dl.doubtnut.com/l/_UZeKUIhAiwjF
https://dl.doubtnut.com/l/_xwuSQv1lk2rm

104. 35 58 T JresySiade aa:- 64m> — 343n°

° Watch Video Solution

105. IEaEStETE da:- 2725 + 3% + 23 — 9zyz

° Watch Video Solution

106. ag J9:-

1
2yt 42 = dayr = S(ety+2)|(e - )+ (-2’ + (2 - o))

° Watch Video Solution

107.78 2+ y+ 2z = 093 feu8 fa 2® + ¢ + 2% = 3zyz 3l

o Watch Video Solution



https://dl.doubtnut.com/l/_fTvEq2ksKF6o
https://dl.doubtnut.com/l/_tYUsTYgYhx9M
https://dl.doubtnut.com/l/_AvTzlRYINGXv
https://dl.doubtnut.com/l/_kAky7S7qAeBu
https://dl.doubtnut.com/l/_94LqAr42TT1Z

108. W T wA® dJes dI3 G5 ds f&d & U® U3t ad-

(—12)° +(7)° + (5)°

o Watch Video Solution

109. W & wA® Js A3 fO& ds f&d & W® U3t ad-

(28)° + ( — 15)° + ( — 13)3

° Watch Video Solution

110. I&" I3 »irfesi € 439es 3 918 I65| II € Baret i3 I3 el Hge

fentad f89:- 933988:- 250> — 35a + 12

o Watch Video Solution

M. IS I3 st @ d39es 3 918 gs| gox & Samel »3 I3t et Hge

fenfra f38:- 839es:- 3512 + 13y — 12



https://dl.doubtnut.com/l/_94LqAr42TT1Z
https://dl.doubtnut.com/l/_lEcdiNt9raTp
https://dl.doubtnut.com/l/_JPGUaq555fCn
https://dl.doubtnut.com/l/_57WNt0K29WTb

| o Watch Video Solution

112. W, fHgt @ M3 Iat €3 e g6 @ Hiuf &t Fige fenira ot as?
nfess:- 327 — 122

° Watch Video Solution

113. wereh, fHg @ M3 Iat 3 IR g6 @ W' &t Fige fenird ot as?

nfe3a:-12ky* + 8ky— 20k

° Watch Video Solution

1.95 fed sgue dtws fsd-2° — 24 + 3

o Watch Video Solution



https://dl.doubtnut.com/l/_57WNt0K29WTb
https://dl.doubtnut.com/l/_5ghjIBdtVZki
https://dl.doubtnut.com/l/_l78Raq2xTT0S
https://dl.doubtnut.com/l/_DZmkrnVlXOJN

2. 95 {58 ggue w3 f58:- 2— 2 ¢° + 248

o Watch Video Solution

3.J5 f&d goue St w3 fsd:- 2

° Watch Video Solution

4, 95 2 &3 I s Jo fo3 I gguT © US U3 ad:- x = 1 BTt

p(z) = 52’3z + TTHS

° Watch Video Solution

5. 98 € fid3 ot Us Jdo i3 o ggue © Hs U3 ad:- y = 2 3
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